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About the method how to survey area of octagon
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There is a square plate here.
One side of the length of this board is omotekane
[sh#ku and urakane 1shakv,
(E’E‘U)r _ 05
s I cut the corner of this plate from the top. Length
sin?st = 1 to cut off is urakane 5.
=2 This plate is regular octagon when I cut the corner.
in 2050 = YosEe What is the area of this plate?
- Yosse However you can replace the length of one side
e Wld’l Zshaku 4sunn Ibu 4_r1'nn'
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x=1. : ,
BEY (a) =2 x=1.847 The person in charge : Terada , Nakayama
(ﬁ?:xéf By)? - BEEER (Enelish translation)
B=rx2=22245 =2.61...
heee x= sirgl;S‘ <V>
<ﬁ?§ (V) > 12 Sin245 _ 1— cos45° yzzlif% )2
Ro_fHIR212— EEs =osse =2
. - =z 58575,
H%=2.414 e
{Area)
S=ab-cosC
(EE) | a=2=1.847 =12 5
5== ab-95C == x X X 1.706471..
=m g ® = 61 =0.6033289...
=2 XT= X 1.706471... B= xx2= g x2 = 261 85=4.8266...
=0.6033289... .
85=4.8266... %88 The person in charge : Mori
FED - SEDER - FE
(summary * Future’s problem * impressions) cummary

FED

IFEROMEDCRER IS ERFEAEEDYFERFATLEA,
MORESLLELZFTHROANTNDIEN DM FEL .

As in Edo age hardly changes at present.
But I understood that I used the ratio to solve it.

Future’s problem
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Wed like to until only by own without help by teachers.
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impressions

As mentioned above, how to settle a problem in Edo

solve this problem all together.

age hardly changes at present. We were surprised very
much. We couldn’t understand the first problem at first.
So we were in trouble. But I am happy because we can
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